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Question Number : 1 Question Id : 86435110343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“Learning is the Process of progressive Behavior adaptation” is said by

1. Skinner

2. Gates

3. Henry P. Smith
4, Crow and Crow

Options :

86435133607. 1
86435133608. 2
86435133609. 3
86435133610. 4

Question Number : 2 Question Id : 86435110344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When something previously learned benefits performance or learning in a new situation is said to be

1. Positive transfer of learning
2. Negative transfer of learning
3. Zero transfer of learning

4. None of the above

Options :



86435133611. 1
86435133612. 2
86435133613. 3
86435133614. 4

Question Number : 3 Question Id : 86435110345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The behaviour of children can easily be modified and shaped through the use of the

1. Classical conditioning
2. Operant conditioning
3. Verbal learning

4. Concept learning

Options :

86435133615. 1
86435133616. 2
86435133617. 3
86435133618. 4

Question Number : 4 Question Id : 86435110346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Piaget ‘schemas’ are the basic building block of -------------—-————- behavior.

1. Emotional
2. Personal
3. Intelligent
4, Active

Options :

86435133619. 1
86435133620. 2
86435133621. 3



86435133622. 4

Question Number : 5 Question Id : 86435110347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Piaget, the process of teaching-learning should be:

1. Teacher centered
2. Student centered
3. Classroom based
4, Curriculum based

Options :

86435133623. 1
86435133624.2
86435133625.3
86435133626. 4

Question Number : 6 Question Id : 86435110348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Zone of Proximal Development in each individual is one of the important principle of ---—--—---------—--—--

1. Lev Vygotsky

2. Jean Piaget

3. Lawrence Kohlberg
4. Howard Gradner

Options :

86435133627. 1
86435133628. 2
86435133629. 3
86435133630. 4

Question Number : 7 Question Id : 86435110349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Spearman has developed the:

1. Theory of Mental Ability

2. Concept of Abstract level of intelligence
3. Two-type ability theory

4. Two-factor theory of intelligence

Options :

86435133631. 1
86435133632. 2
86435133633.3
86435133634. 4

Question Number : 8 Question Id : 86435110350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which need is on top of the Maslow's hierarchy of needs?

1. Self-actualization
2. Esteem

3. Belongingness
4. Safety

Options :

86435133635. 1
86435133636.2
86435133637. 3
86435133638. 4

Question Number : 9 Question Id : 86435110351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one is the simplest form of cognition?

1. Conception
2. Perception
3. Sensation
4. Affection

Options :

86435133639. 1
86435133640. 2
86435133641. 3
86435133642. 4

Question Number : 10 Question Id : 86435110352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Playing games for a longer time is an example for

1. Sustained attention
2. Divided attention

3. Alternating attention
4, Habitual attention

Options :

86435133643. 1
86435133644. 2
86435133645. 3
86435133646. 4

Question Number : 11 Question Id : 86435110353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Self-actualizing tendency needs to

1. Provide for physiological deficits
2. Seek pleasure

3. Avoid pain

4. Gain status and recognition

Options :

86435133647. 1
86435133648. 2
86435133649. 3
86435133650. 4

Question Number : 12 Question Id : 86435110354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does Dyscalculia Mean?

1. Difficulty with words

2. Difficulty with lines

3. Difficulty with sentences
4. Difficulty with Numbers

Options :

86435133651. 1
86435133652. 2
86435133653. 3
86435133654. 4

Question Number : 13 Question Id : 86435110355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Proprioception is the "sense of position.

1. Hand

2. Body

3. Standing
4. Sitting

Options :

86435133655. 1
86435133656. 2
86435133657. 3
86435133658. 4

Question Number : 14 Question Id : 86435110356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sensory processing is the process that organizes sensation from one’s own and the environment.

1. Body

2. Movement
3. Kinesthetics
4, Tactile

Options :

86435133659. 1
86435133660. 2
86435133661. 3
86435133662. 4

Question Number : 15 Question Id : 86435110357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



How we translate sensory information into actions, is called -------- processing.

1. Auditory
2. Sensory
3. Visual
4. Motor

Options :

86435133663. 1
86435133664. 2
86435133665. 3
86435133666. 4

Question Number : 16 Question Id : 86435110358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The process of perception begins with an object in the real world, termed as the stimulus.

1. Distal
2. Proximity
3. Visual
4. Auditory

Options :

86435133667. 1
86435133668. 2
86435133669. 3
86435133670. 4

Question Number : 17 Question Id : 86435110359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Memory is the faculty of the by which information is encoded, stored, and retrieved when needed.

1. Visual

2. Auditory
3. Motor
4. Brain

Options :

86435133671. 1
86435133672. 2
86435133673. 3
86435133674. 4

Question Number : 18 Question Id : 86435110360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An assessment that is generally carried out throughout a course is called?

1. Diagnostic assessment

2. Formative assessment

3. Summative assessment

4, Contemporary assessment

Options :

86435133675. 1
86435133676. 2
86435133677. 3
86435133678. 4

Question Number : 19 Question Id : 86435110361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



ASAR assessment is one which measures what it is intended to measure.

1. Valid

2. Invalid

3. Reliable
4. Unreliable

Options :

86435133679. 1
86435133680. 2
86435133681. 3
86435133682. 4

Question Number : 20 Question Id : 86435110362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which from the following is NOT an informal assessment?

1. Assignment

2. Observation
3. Rating scales
4. Discussion

Options :

86435133683. 1
86435133684. 2
86435133685. 3
86435133686. 4

Question Number : 21 Question Id : 86435110363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



An IEP is meant to give the student a chance to participate in

1. Special school

2. Regular school

3. Home based learning
4. None of the above

Options :

86435133687. 1
86435133688. 2
86435133689. 3
86435133690. 4

Question Number : 22 Question Id : 86435110364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Programmed learning is guided by a variety of and educators.

1. Clinical psychologist

2. Applied psychologist

3. Observers in a psychological experiment
4. None of the above

Options :

86435133691. 1
86435133692. 2
86435133693. 3
86435133694. 4

Question Number : 23 Question Id : 86435110365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What are summative assessments used to determine?

1. Student feedback

2. Identification of instructional areas
3. Valid instruction

4. Ongoing reviews & observations

Options :

86435133695. 1
86435133696. 2
86435133697. 3
86435133698. 4

Question Number : 24 Question Id : 86435110366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is curriculum based evaluation?

1. Comparison of rates of learning
2. Teaching methods

3. Effectiveness of teaching

4. Measurement based on syllabus

Options :

86435133699. 1
86435133700. 2
86435133701. 3
86435133702. 4

Question Number : 25 Question Id : 86435110367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is the main purpose of marking scheme?

1. Provide a uniform basis for the marking process
2. Scoring the answer script

3. Maintaining subjectivity in evaluation

4. None of the above

Options :

86435133703. 1
86435133704. 2
86435133705. 3
86435133706. 4

Question Number : 26 Question Id : 86435110368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A Device can worn on head emits ultrasound and converts reflection from objects into audible sound is

1. Laser cane

2. Sonic guide

3. Optacon

4, Electronic devices

Options :

86435133707. 1
86435133708. 2
86435133709. 3
86435133710. 4

Question Number : 27 Question Id : 86435110369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Interest to play is

1. Intrinsic motivator
2. Extrinsic motivator
3. Feedback

4. Reinforcement

Options :

86435133711. 1
86435133712. 2
86435133713.3
86435133714. 4

Question Number : 28 Question Id : 86435110370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In __ classroom students are main focus

1. In Teacher centered classroom
2. Through ICT

3. With Extra Curricular Activities
4, Student centered classroom

Options :

86435133715. 1
86435133716. 2
86435133717. 3
86435133718. 4

Question Number : 29 Question Id : 86435110371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The problem solving skills are important for

1. Synthetic skill

2. Recognise ideas

3. Practical - contextual skills
4. Creative functioning

Options :

86435133719. 1
86435133720. 2
86435133721.3
86435133722. 4

Question Number : 30 Question Id : 86435110372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Role play can increase pupils’ and give them freedom to explore ideas.

1. Creativity
2. Imaginative engagement
3. Play time
4. Learning

Options :

86435133723. 1
86435133724.2
86435133725. 3
86435133726. 4

Question Number : 31 Question Id : 86435110373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Teaching machine is refers to

1. Programmed Instruction
2. Colloborative learning
3. Self Instruction

4. Cooperative Learning

Options :

86435133727. 1
86435133728. 2
86435133729. 3
86435133730. 4

Question Number : 32 Question Id : 86435110374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Interest is the internal factor that affects

1. Emotion

2. Size of the object
3. Intensity

4. Attention

Options :

86435133731. 1
86435133732.2
86435133733. 3
86435133734. 4

Question Number : 33 Question Id : 86435110375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Sensation is the ability to feel something by

1. Touch
2. Vision
3. Auditory
4. Olfactory

Options :

86435133735. 1
86435133736. 2
86435133737.3
86435133738. 4

Question Number : 34 Question Id : 86435110376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Reliability refers to

1. Validity

2. Invalid

3. Consistency
4, Measure

Options :

86435133739. 1
86435133740. 2
86435133741. 3
86435133742. 4

Question Number : 35 Question Id : 86435110377 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Diagnostic assessment measures a student's

1. Current knowledge

2. Previous knowledge

3. Practical skill

4. Contemporary knowledge

Options :

86435133743. 1
86435133744. 2
86435133745.3
86435133746. 4

Question Number : 36 Question Id : 86435110378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Concept development is primarily based on

1. Observation

2. Discrimination

3. Classifying

4, None of the above

Options :

86435133747. 1
86435133748. 2
86435133749. 3
86435133750. 4

Question Number : 37 Question Id : 86435110379 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Activities that stimulates creativity is

1. Self-expression
2. Conformity

3. Orthodoxy

4. Engagement

Options :

86435133751. 1
86435133752. 2
86435133753.3
86435133754. 4

Question Number : 38 Question Id : 86435110380 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Conditioned stimulus is responsible for the

1. Unconditioned Response
2. Conditioned Response

3. Neutral Response

4. None of the above

Options :

86435133755. 1
86435133756.2
86435133757. 3
86435133758. 4

Question Number : 39 Question Id : 86435110381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A good quality of a teacher is

1. Come to the school before time

2. To fix a particular time to talk with the students
3. Be very close with the students

4. Interact with students after school hours

Options :

86435133759. 1
86435133760. 2
86435133761. 3
86435133762. 4

Question Number : 40 Question Id : 86435110382 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Psychology, all education is

1. Deliberate
2. Functional
3. Purposive
4, Self-education

Options :

86435133763. 1
86435133764. 2
86435133765. 3
86435133766. 4

Question Number : 41 Question Id : 86435110383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following most influences the classroom behaviour of the child?

1. The teacher

2. The peers

3. The social groups in the class
4. The monitor of the class

Options :

86435133767. 1
86435133768. 2
86435133769. 3
86435133770. 4

Question Number : 42 Question Id : 86435110384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The view that “Learning, instead of being reinforced, should be self-rewarding” was expressed by

1. Skinner
2. Bruner
3. Pavlov
4, Thorndike

Options :

86435133771. 1
86435133772.2
86435133773. 3
86435133774. 4

Question Number : 43 Question Id : 86435110385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Kobler wanted to prove that learning is

1. An autonomous random activity.

2. The perception of the whole situation

3. A situation in which animals are superior to men.
4. The perception of diffferent parts of the situation.

Options :

86435133775. 1
86435133776. 2
86435133777. 3
86435133778. 4

Question Number : 44 Question Id : 86435110386 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Introspection as a method stands rejected by

1. Functional school
2. Behaviourists

3. Psycho analysts
4, Gesralt

Options :

86435133779. 1
86435133780. 2
86435133781. 3
86435133782. 4

Question Number : 45 Question Id : 86435110387 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



To educate according to nature means

1. To return to the nature as opposed to the artificial in life.

2. To educate according to the law of nature of human development.
3. To study natural laws and apply them to the educational process.
4. All of the above.

Options :

86435133783. 1
86435133784. 2
86435133785. 3
86435133786. 4

Question Number : 46 Question Id : 86435110388 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Intelligence is the property of recombining our behaviour pattern so as to act better in a novel situation. This definition is

given by

1. Wells

2. William Stern
3. Hull

4, Binet

Options :

86435133787. 1
86435133788. 2
86435133789. 3
86435133790. 4

Question Number : 47 Question Id : 86435110389 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Wechsler set the mean of the scores equal to an 1Q of

1. 150
2. 50
3. 100
4.120

Options :

86435133791. 1
86435133792. 2
86435133793.3
86435133794. 4

Question Number : 48 Question Id : 86435110390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ability to think abstractly and to learn. readily from experience is

1. Memory
2. Intelligence
3. Learning
4. Thinking

Options :

86435133795. 1
86435133796. 2
86435133797. 3
86435133798. 4

Question Number : 49 Question Id : 86435110391 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Child’s socialisation is influenced by

1. Brain pattern
2. Communication
3. Biological norm
4. Ethnic status

Options :

86435133799. 1
86435133800. 2
86435133801. 3
86435133802. 4

Question Number : 50 Question Id : 86435110392 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teenagers who are primarily fearful, withdrawn, depressed or mentally confused are often given therapy.

1. Group

2. Individual
3. Shared

4, Joint

Options :

86435133803. 1
86435133804. 2
86435133805. 3
86435133806. 4

Question Number : 51 Question Id : 86435110393 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



An individual can develop his/her concept formation by:
A. By hearing

B. By playing in the ground

C. By staying at home

D. By reading new words

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and D only
4. A and C only

Options :

86435133807. 1
86435133808. 2
86435133809. 3
86435133810. 4

Question Number : 52 Question Id : 86435110394 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The primary components of Creativity are:

A. Originality

B. Functionality

C. Imagination

D. Knowledge

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and D only
4. A and C only

Options :

86435133811. 1
86435133812. 2
86435133813.3
86435133814. 4

Question Number : 53 Question Id : 86435110395 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Example for internal assessment is
A, State board examinations

B. Entrance Exams

C. Teacher-made tests

D. Portfolios

Choose the correct answer from the options given below:

1. B and C only
2. B and D only
3.Cand D only
4. Cand B only

Options :

86435133815. 1
86435133816. 2
86435133817.3
86435133818. 4

Question Number : 54 Question Id : 86435110396 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



According to W. M. Proctor, the types of guidance are:
A. Educational guidance
B. Spiritual Guidance

C. Vocational guidance
D. Medial Guidance

Choose the correct answer from the options given below:

1. B and C only
2. A and D only
3. A and B only
4. A and C only

Options :

86435133819. 1
86435133820. 2
86435133821.3
86435133822. 4

Question Number : 55 Question Id : 86435110397 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Creativity can be destroyed by

A. Criticism

B. Guidance

C. Motivation

D. Applause

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. A and D only
4. B and C only

Options :

86435133823. 1
86435133824. 2
86435133825.3
86435133826. 4

Question Number : 56 Question Id : 86435110398 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The final stage of the group counselling process is called
A. Client-exploration

B. Transition

C. Termination

D. Consolidation

Choose the correct answer from the options given below:

1. B and C only
2.Cand D only
3. Cand A only
4. B and D only

Options :

86435133827. 1
86435133828. 2
86435133829. 3
86435133830. 4

Question Number : 57 Question Id : 86435110399 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is Guidance?

A. Helping a person systematically to overcome his/her difficulties.

B. Helping an individual to understand himself/herself, his/her needs and his/her environment.
C. Helping a boy, going out of the way, to score more marks.

D. Giving a mild electric shock and activating the brain of a person mentally disturbed.
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and D only
4. A and C only

Options :

86435133831. 1
86435133832. 2
86435133833.3
86435133834. 4

Question Number : 58 Question Id : 86435110400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is true of drives?

A. Internal states

B. Aroused by tension

C. Underlying need

D. Guided by external stimuli

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A Cand D only
4.Band Conly

Options :

86435133835. 1
86435133836. 2
86435133837.3
86435133838. 4

Question Number : 59 Question Id : 86435110401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Observational learning involves:

A. Attention and retention

B. Attention and Reinforcement

C. Production processes and motivation

D. Reinforcement and motivation

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and D only
4. A and C only

Options :

86435133839. 1
86435133840. 2
86435133841. 3
86435133842. 4

Question Number : 60 Question Id : 86435110402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which is the correct terms of learning, teaching & assessment ?
A. Aspects of the curriculum

B. Positive relationship between teacher & student

C. Teacher understanding & responsibility

D. Build independence to the all student

Choose the correct answer from the options given below:

1. A and D only
2. B and D only
3. A and Conly
4. Cand D only

Options :

86435133843. 1
86435133844. 2
86435133845. 3
86435133846. 4

Question Number : 61 Question Id : 86435110403 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List Il

A. Thurston l. Emotional Intelligence

B. Goleman II. Social Intelligence

C. Guilford ll. Mutifactor Theory of Intelligence
D. Gardner IV. Structure of Intellect

Choose the correct answer from the options given below:

1.A-1,B-1I C-IV,D-ll
2 A-IV,B-1,C-11, D-1ll
3. A-1I, B-1, C- 1V, D- 1l
4. A- 11, B- 11, C- IV, D- 1

Options :

86435133847. 1
86435133848. 2
86435133849. 3
86435133850. 4

Question Number : 62 Question Id : 86435110404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List 11

A. Alfred Adler . TAT

B. Henry Murray Il Inferiority feelings

C. Sigmund Freud l1l. Creative thinking

D. Wallach- Kogan  [IV. Defence mechanism

Choose the correct answer from the options given below:

1. A- |, B- lILC- IV, D- Il
2 A-1V,B-1, C-1l, D- 1l
3. A- Il B- 1, C- 1V, D- |
4. A- I, B- I, C- IV,D- 1l

Options :

86435133851. 1
86435133852.2
86435133853. 3
86435133854. 4

Question Number : 63 Question Id : 86435110405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List 11

A. Visuo-spatial function I. Hypothalamus

B. Social norms Il. Cerebellum

C. Releasing factors 1. Orbito-frontal cortex
D. Balance IV. Parietal cortex

Choose the correct answer from the options given below:

1. A- |, B- lILC- IV, D- Il
2 A-IV,B-1ll,C- |, D-1I
3. A- Il B- 1, C- 1V, D- |
4. A-11, B-1,C- 1V, D- 1l

Options :

86435133855. 1
86435133856.2
86435133857. 3
86435133858. 4

Question Number : 64 Question Id : 86435110406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

List | List I

A. An unpleasant stimulus is presented to decrease |I. Positive
behavior reinforcement
B. An unpleasant stimulus is removed to increase  |ll. Negative
behavior reinforcement
C. A pleasant stimulus is presented to increase 1. Positive
behavior punishment
D. A pleasant stimulus is removed to decrease V. Negative
behavior punishment

Choose the correct answer from the options given below:

1. A- 1, B-1Il, C- IV, D- 1l
2 A-IV,B-1ll,C- |, D-1I
3. A-1Il, B-1I, C-1, D- IV
4. A-11, B-1,C- 1V, D- 1l

Options :

86435133859. 1
86435133860. 2
86435133861. 3
86435133862. 4

Question Number : 65 Question Id : 86435110407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List Il

A. Bruner l. Social learning theory

B. Bandura ll. Modes of representation
C. Piaget Ill. Conditioning

D. Pavlov V. Cognitive Theory

Choose the correct answer from the options given below:

1. A-1ll, B- IV, C- I, D- 1l
2. A-IV,B-1, C- 1l D-1I
3.A-1L,B-1, G-IV, D-1
4 A-1, B-1Il, C-1I, D- IV

Options :

86435133863. 1
86435133864. 2
86435133865. 3
86435133866. 4

Question Number : 66 Question Id : 86435110408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List Il

A. First Element |l Conditioned Response

B. Second Element|ll. Artificial Stimulus

C. Third element |lll. Unconditioned Response

D. Fourth element |IV. Unconditoned Stimulus

Choose the correct answer from the options given below:

1. A- Il B- IV, C- |, D- 1l
2 A-1IV,B- 1, C-1lIl, D-1I
3. A-Il, B-1, C- 1V, D- Il
4. A- IV, B- Il C- 11, D- 1

Options :

86435133867. 1
86435133868. 2
86435133869. 3
86435133870. 4

Question Number : 67 Question Id : 86435110409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

List | List 11

I. Tridimensional theory of
A WAIS

Intelligence
B. Thurston's Multifactor Il. Multi Factor Theory of
Theory Intellegence
C. Theory of Thorndike Il. Primary mental Abilities Test
D. Guilford's Theory IV. A learned or acquired Capacity

, , V. Wechesler Adult Intellengence
E. Crystallized Intelligence

Scale

Choose the correct answer from the options given below:

1. A-1, B-V, C- I, D- IV, E- llI
2. A-V,B-IL,C-1,D-1, E-IV
3. A-1l, B-V,C- |, D-1ll, E- IV
4. A- Il B- IV, C-1I, D- V, E- |

Options :

86435133871. 1
86435133872. 2
86435133873.3
86435133874. 4

Question Number : 68 Question Id : 86435110410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List 11
A. The Stanford Binet Intelligence Scale |I. 1905
B. Wechsler Adult Intelligence Scale 1. 1916
C. The Binet Simon Scale 1. 1969

D. Jensen's Theory of Mental Functioning|lV. 1927

E. Spearman’s Two Factor Theory V. 19329

Choose the correct answer from the options given below:

1. A-1, B-V, C- I, D- IV, E- llI
2. A-V,B-IL,C-1,D-1, E-IV
3. A-1l, B-V,C- |, D-1ll, E- IV
4. A- Il B- IV, C-1I, D- V, E- |

Options :

86435133875. 1
86435133876. 2
86435133877. 3
86435133878. 4

Question Number : 69 Question Id : 86435110411 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List 11

A. Cornea |l. Centre of the iris

B. Lens Il. Inner membrane
C. Retina |lll. Transparent structure
D. Pupil  |IV. Transparent area

Choose the correct answer from the options given below:

1. A- IV, B-1l,C-11, D- |
2 A-1V,B-1, C-1l, D- 1l
3. A- IV, B-1I, C-lll, D- |
4. A- |, B-1Il, C-1I, D- IV

Options :

86435133879. 1
86435133880. 2
86435133881. 3
86435133882. 4

Question Number : 70 Question Id : 86435110412 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List 11

A. Stimulation |l. Recognize

B. Organization|ll. Attention & Exposure

C. Memory lll. Reconstruct

D. Recall IV. Preconceptions

Choose the correct answer from the options given below:

1. A- IV, B- 11, C- 11, D- |
2 A-1V,B-1, C-1l, D- 1l
3. A-Il, B-1, C- 1V, D- Il
4. A- |, B-1Il, C-1I, D- IV

Options :

86435133883. 1
86435133884. 2
86435133885. 3
86435133886. 4

Question Number : 71 Question Id : 86435110413 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Sequence the three layers of the eye

A. Choroid

B. Sclera

C. Retina

Choose the correct answer from the options given below

1. A B, C
2B A C
3.B,C A
4. C, B A

Options :

86435133887. 1
86435133888. 2
86435133889. 3
86435133890. 4

Question Number : 72 Question Id : 86435110414 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Information processing includes:
A. Response

B. Justification

C. Application

D. Mapping

E. Inferring

F. Encoding

Choose the correct answer from the options given below

1.A B CDEF
2B, CFDEA
3.FEDCB A
4.C D B AEF

Options :

86435133891. 1
86435133892. 2
86435133893.3
86435133894. 4

Question Number : 73 Question Id : 86435110415 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



According to Piaget, the stages of cognition are in the order:
A. Assimilation

B. Equilibrium

C. NewSituation

D. Accommodation

E. Disequilibrium

Choose the correct answer from the options given below

1.A B CD,E
2A B CED
3.AC B D E

4. A ECDB

Options :

86435133895. 1
86435133896. 2
86435133897. 3
86435133898. 4

Question Number : 74 Question Id : 86435110416 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



According to the principle of classical conditioning ;

A. Spontaneous Recovery

B. Extinction

C. Stimulus Discrimination

E. Stimulus Generalization

Choose the correct answer from the options given below

1.ABCD
2 A DCE
3.B,A D, C
4B, CAD

Options :

86435133899. 1
86435133900. 2
86435133901. 3
86435133902. 4

Question Number : 75 Question Id : 86435110417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The 5 stages of teacher cycle is

A. Evaluating

B. Identify Needs

C. Assssing

D. Designing

E. Delivering

Choose the correct answer from the options given below

1.A B CD,E
2AECDB
3.B.D,EAC
4B, D, ECA

Options :

86435133903. 1
86435133904. 2
86435133905. 3
86435133906. 4

Question Number : 76 Question Id : 86435110418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Stages of Information Processing

A. Storage

B. Retrieval

C. Encoding

Choose the correct answer from the options given below

1.ACB
2B A C
3.B,C A
448 CA

Options :

86435133907. 1
86435133908. 2
86435133909. 3
86435133910. 4

Question Number : 77 Question Id : 86435110419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Steps involved in problem solving

A. Awareness & ldentification

B. Defining & Forming

C. Organization & Allocating

D. Monitoring & Evaluating

Choose the correct answer from the options given below

1.A B CD,E
2A B CED
3.A,CBDE
4 A D B DE

Options :

86435133911. 1
86435133912. 2
86435133913.3
86435133914. 4

Question Number : 78 Question Id : 86435110420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Creativity can be nurtured in the classroom.

Reason R: If the teacher is open to experience and tolerant of ambiguity.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435133915. 1
86435133916. 2
86435133917.3
86435133918. 4

Question Number : 79 Question Id : 86435110421 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: All teaching implies learning.

Reason R: Learning to be useful must be derived from teaching.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435133919. 1
86435133920. 2
86435133921. 3
86435133922. 4

Question Number : 80 Question Id : 86435110422 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Classroom communication is a transactional process.

Reason R: A teacher does not operate under the assumption that students’ responses are purposive.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435133923. 1
86435133924. 2
86435133925. 3
86435133926. 4

Question Number : 81 Question Id : 86435110423 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Motivation is important in the process of teaching and learning.

Reason R: Motivation is attraction towards a goal and clarifies its meaning.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are incorrect.
2. Only A is correct

3. Only R is correct.

4. Both A and R are correct

Options :

86435133927. 1
86435133928. 2
86435133929. 3
86435133930. 4

Question Number : 82 Question Id : 86435110424 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Pleasure or displeasure resulting from a learning experience decides the degree of its effectiveness.

Reason R: All pleasant experiences have a lasting influence and are remembered for a long- time while the unpleasant
ones are soon forgotten.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435133931. 1
86435133932. 2
86435133933.3
86435133934. 4

Question Number : 83 Question Id : 86435110425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Memory for autobiographical information and for life experiences is called autobiographical memory.

Reason R: It relates to the knowledge about where and when one is born, his/her educational history and places one lived

in.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R is not the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435133935. 1
86435133936. 2
86435133937. 3
86435133938. 4

Question Number : 84 Question Id : 86435110426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A person's self-concept is partly rooted in the feed-back of other people.

Reason R: The reactions of others are based on “looking glass self” effect as an internalization of others reactions to self-

concept.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435133939. 1
86435133940. 2
86435133941. 3
86435133942. 4

Question Number : 85 Question Id : 86435110427 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Playing chess requires higher level of cognitive strategy.

Reason R: Winning any game needs ability and tricks.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435133943. 1
86435133944. 2
86435133945. 3
86435133946. 4

Question Number : 86 Question Id : 86435110428 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Individuals take high risk in mountaineering.

Reason R: Intrinsic motivation is the desire to be effective and to perform behaviour for its own sake.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435133947. 1
86435133948. 2
86435133949. 3
86435133950. 4

Question Number : 87 Question Id : 86435110429 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Learning is a lifelong process.

Reason R: Learning to be useful must be linked with life processes.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435133951. 1
86435133952. 2
86435133953.3
86435133954. 4

Question Number : 88 Question Id : 86435110430 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Formative evaluation tends to accelerate the pace of learning.

Reason R: As against summative evaluation, formative evaluation is highly reliable.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435133955. 1
86435133956. 2
86435133957. 3
86435133958. 4

Question Number : 89 Question Id : 86435110431 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: All teaching should aim at ensuring learning.

Reason R: All learning results from teaching.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435133959. 1
86435133960. 2
86435133961. 3
86435133962. 4

Question Number : 90 Question Id : 86435110432 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: To communicate well in the classroom is a natural ability.
Reason R: Effective teaching in the classroom demands knowledge of the communication process.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false
4. A is false but R is true

Options :

86435133963. 1
86435133964. 2
86435133965. 3
86435133966. 4

Sub-Section Number : 2
Sub-Section Id : 864351573
Question Shuffling Allowed : Yes

Question Id : 86435110433 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 95)

Question Label : Comprehension



Teaching, Learning,Assessment

Teaching, learning and assessment are aspects of the curriculum for which teachers take responsibility. It is important that
teachers should have understanding of these aspects. Teaching can be defined as engagement with learners to enable
their understanding and application of knowledge, concepts and processes. It includes design, content selection, delivery
of instruction, assessment and reflection. Teaching here means engaging students in learning. Thus teaching consists of
getting students involved in the active construction of knowledge. A teacher requires not only knowledge of subject
matter, but knowledge of how students learn and how to transform them into active learners. The aim of teaching is not
only to transmit information, but also to transform students from passive recipients into active constructors of their own
and others' knowledge. The teacher cannot transform without the student's active participation. Teaching is fundamentally
about creating the pedagogical, social, and ethical conditions under which students agree to take charge of their own
learning, individually and collectively. Learning can be defined as the activity or process of gaining knowledge or skill by
studying, practicing, being taught, or experiencing something. Learning is about what students do, not about what we as
teachers do. Assessment is defined as the act of judging the amount of learning that took place as a result of learning and
teaching. The methods of learning are crucial for learning and the method of teaching is termed as pedagogy. There are
certain principles involved in the methods and activities of the practice of teaching.

Sub questions

Question Number : 91 Question Id : 86435110434 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who is primary responsible for Teaching, Learning and Assessment?

1. Teacher
2. Student
3. Parent
4, Peers

Options :



86435133967. 1
86435133968. 2
86435133969. 3
86435133970. 4

Question Number : 92 Question Id : 86435110435 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Learning is a process of gaining

1. Obedience
2. Skill

3. Patience
4, Rules

Options :

86435133971. 1
86435133972. 2
86435133973.3
86435133974. 4

Question Number : 93 Question Id : 86435110436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teaching meaning

1. Monitoring the students
2. Assessing the students
3. Menteoring the students
4. Engaging the students

Options :
86435133975. 1
86435133976. 2



86435133977.3
86435133978. 4

Question Number : 94 Question Id : 86435110437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Student involved in the active construction of knowledge during

1. Effective learning
2. Effective Teaching
3. Effective Monitoring
4. Effective Evaluation

Options :

86435133979. 1
86435133980. 2
86435133981. 3
86435133982. 4

Question Number : 95 Question Id : 86435110438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assessment means

1. Judging the amount of learning
2. Judging the amount of teaching
3. Judging teachers knowledge
4. Judging students knowledge

Options :

86435133983. 1
86435133984. 2
86435133985. 3
86435133986. 4



Sub-Section Number :

3
Sub-Section Id : 864351574
Question Shuffling Allowed : Yes

Question Id : 86435110439 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Question Label : Comprehension



Structure of the Eye

The eye consists of three layers: The outer layer consists of the sclera and cornea. The middle layer consists of the choroid,
ciliary body and iris. The inner layer consists of the retina.Cornea is the round, transparent area that allows light to pass
into the eye. Lens is the transparent structure that focuses light onto the retina. Retina is the inner membrane of the eye
that receives information about light using rods and cones. The functioning of the retina is similar to the spinal cord -both
act as a highway for information to travel on Pupil is the opening at the centre of the iris which controls the amount of
light entering the eye. It Dilates and Constricts. Rods & Cones-rods (approximately 120 million) than cones (approx 6.4
million).Rods are the visual receptor cells that are important for night vision and peripheral vision. The rods are better for
night vision because they are much more sensitive than cones. In addition, the rods are better for peripheral vision
because there are many more on the periphery of the retina. The cones are mostly in and around the fovea but decrease
as we go out. To see best at night, look just above or below the object. This keeps the image on the rods.Cones, the visual
receptor cells are important in daylight vision and colour vision. The cones work well in daylight, but not in dim lighting.
This is why it is more difficult to see colours in low light. Most cones are located in the centre of the retina called the
Fovea, which is a tiny spot in the centre of the retina that contains only cones. Visual acuity is best here. We can see many
colours, but there are only 3 types of cones that receive information about colour. We have cones that pick up light waves
for red, green, and blue.When light falls onto an object, the light is reflected and directed to our eyes. The light travels
through the pupil and passes through the lens. The lens sharpens the image of the object, inverts it and displays it on the
retina. It is inverted because the rays coming through the eyes are refracted and cross each other. The retina is a very
complex tissue, made up of optic nerves (photoreceptors) that are special nerves for detecting light. The optic nervesare
the neurons that take the inverted image from the retina and send it to a special part of the brain. The brain interprets it
and tells us what the object is and what to do. All this happens within millions of a second

Sub questions

Question Number : 96 Question Id : 86435110440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Cornea allows to enter into eyes

1. Image
2. Colour
3. Light

4. Cones

Options :

86435133987. 1
86435133988. 2
86435133989. 3
86435133990. 4

Question Number : 97 Question Id : 86435110441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Middle layer of the eye consists of

1. Iris

2. Sclera

3. Retina

4, Cornea

Options :

86435133991. 1
86435133992. 2
86435133993. 3
86435133994. 4

Question Number : 98 Question Id : 86435110442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Inner membrane of the eye is

1. Iris

2. Sclera

3. Retina

4. Cormnea

Options :

86435133995. 1
86435133996. 2
86435133997. 3
86435133998. 4

Question Number : 99 Question Id : 86435110443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Cones work well will with

1. Night light
2. Dim light
3. Day light
4. Dark

Options :

86435133999. 1
86435134000. 2
86435134001. 3
86435134002. 4

Question Number : 100 Question Id : 86435110444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Centre of the cornea is

1. Fovea
2. Iris

3. Cornea
4. Rods

Options :

86435134003. 1
86435134004. 2
86435134005. 3
86435134006. 4



